
LEITNERDESIGNS.COM  |  SALES@LEITNERDESIGNS.COM  |  949-395-3049

V1 | Page 1

ROOF FOR ACS FORGED / CLASSIC

ACS



 ASSEMBLY / INSTALLATION INSTRUCTIONS:

roof PART NUMBERS:
00-ROOF5.0-1555 (5’-0” ROOF PLATFORM)

00-ROOF5.6-1553 (5’-1/2” ROOF PLATFORM)

00-ROOF6.0-1556 (6’-0” ROOF PLATFORM)

00-ROOF6.4-1558 (5’-4” ROOF PLATFORM)

00-ROOF6.6-1560 (6’-1/2” ROOF PLATFORM)

INSTALLATION TIME

SKILL LEVEL

2= NOVICE

        1-1.5 Hours
Basic knowledge of hand tools required

1 2 43

LEITNERDESIGNS.COM  |  SALES@LEITNERDESIGNS.COM  |  949-395-3049

V1 | Page 2

TOOLS REQUIRED

• Torque wrench
• T30 Torx bit socket
• T40 Torx bit socket

IF YOU ARE INSTALLING THE PART NUMBERS BELOW PLEASE FOLOW THE INSTRUCTIONS THAT 
CAME IN THE SEPERATLY SHIPPED SMALL HARDWARE BOX. THERE ARE SOME BOLTS THAT 
NEED TO BE INSTALLED IN ORDER. 

STOP
PLEASE READ!!

TONNEAU roof PART NUMBERS:
00-5.0TLR-1654 (5’-0” ROOF PLATFORM) 

00-5.6TLR-1652 (5’-1/2” ROOF PLATFORM) 

00-6.0TLR-1655 (6’-0” ROOF PLATFORM) 

00-6.6TLR-1653 (6’-1/2” ROOF PLATFORM) 

UNIVERSAL roof PART NUMBERS:
00-5.0ULR-1650 (5’-0” ROOF PLATFORM) 

00-5.6ULR-1648 (5’-1/2” ROOF PLATFORM) 

00-6.0ULR-1651 (6’-0” ROOF PLATFORM) 

00-6.6ULR-1649 (6’-1/2” ROOF PLATFORM) 



▼ READ BEFORE INSTALLING ACS ROOF ▼
1. Don’t over-tighten bolts. All 8mm bolts = (16ft-lb) All 6mm bolts = 2ft-lb) 

2. Lay down a large area of carpet or blankets as a work area to avoid scratching parts during assembly.

3. Take your time to do it right, measure twice, drill once.
 `
4. Although the ACS Roof is light having a friend to help is recommended.

▼  ASSEMBLY OVERVIEW ▼

LEITNERDESIGNS.COM  |  SALES@LEITNERDESIGNS.COM  |  949-395-3049

V1 | Page 3

side bar

side bar

endcap

load bar

front/ back bar



▼ ACS ROOF hardware ▼

V1 | Page 4

single t-nut
-(x32)-

 

m8 x 14
-(x32)-

 

M6 X 12
(x8]

 

Clamp Plate
-(x16]-

 

m8 lock nut
(x4)

 



V1 | Page 5

PREP: clamp plate 
• Install two M8 x 14 bolts through clamp plate and thread into t-nut. do not tighten. 

• Repeat for all plates

• set aside for use in next step

     

 T-Nut

 m8 x 14



V1 | Page 6

PREP:  FOR installlation ON ACS CLASSIC ONLY 
• IF YOU HAVE AN ACS FORGED BED RACK YOU CAN SKIP THIS STEP. 

• REMOVE THE LOAD BARS FROM YOUR CLASSIC RACK AND REMOVE THE EIGHT (8) T-BOLTS THAT HOLD THEM TO THE STEEL BRACKETS.

• SLIDE 4 T-BOLTS INTO THE MIDDLE CHANNEL OF THE FRONT / BACK BAR 

• set aside for use in next step

STOP
PLEASE READ!!

FOUR (4) M8 T-BOLTS (REMOVED FROM YOUR ACS CLASSIC RACK) NEED TO BE SLIDE INTO THE MIDDLE 
T-TRACK OF THE FRONT / BACK BAR BEFORE ASSEMBLING THE ACS ROOF PLATFORM. IF YOU FORGET THIS STEP 
YOU WILL NOT BE ABLE TO INSTALL THE PLATFORM ONTO YOUR ACS CLASSIC. 

m8 t-bolt

these bolts are not supplied with the 
ACS Roof but are re-used from the ACS 
Classic. 



PREP: PREP FRONT AND REAR bars

V1 | Page 7

• Install 2 clamp plate assemblies per side into the front and rear bars as shown. make sure the teeth on the clamp plate face 	
  out. 

CLAMP TEETH FACE OUT



assemble: frame of rack 
• on a soft working surface lay out the four aluminum extrusion bars as shown. we recommend a moving blanket layed out on a 	
  flat floor as the rack is to large to assemble on a table. 

V1 | Page 8



ASSEMBLE: rack corners
• PUSH ONE OF THE CORNERS OF THE RACK TOGETHER AS SHOWN BELOW. MAKE SURE THE SIDE BAR touches OFF AS SHOWN ON THE STOP LIP 
ON THE FRONT/BACK EXTRUSION (Yellow surfaces). Also make sure the Front/back bar fully touches the inside of the side bar 
(BLUE surfaces). you can make sure everything is at a 90 by using a carpenters square (fig 1)

• adjust the clamp so all the teeth line up with the groves in the side extrusion (red surfaces). tighten the bolts using a T40 
torx wrench to 16 ft-lb  (fig 2)

• repeat step for all 4 corners. after you are sure everything is square flip the assembly over and tighten lower clamps. 

V1 | Page 9

90°

(FIG 2)

(FIG 1)



V1 | Page 10

PREP: load bars
• Install 1 clamp plate assemblies per side into the load bars as shown. make sure the teeth on the clamp plate face out. 

• IInstall the load bar into the side extrusion by angeling it in as shown in the diagram. 

• repeat steps for all included load bars. You can buy extra load bars and install them at any time up to make a fully flat           	
  platform. 

• even spacing for included load bars is shown on next page. 



V1 | Page 11

ADJUST: LOAD BAR DISTANCE
• THE LOAD BARS ARE DESIGNED TO SLIDE AND CAN BE POSITIONED ANYWHERE ALONG THE SIDE RAIL. YOU CAN ALSO ADD AS MANY LOAD BARS AS 
YOU LIKE UP TO AN ALMOST FULLY FLAT PLATFORM. HOWEVER IF YOU WOULD LIKE EVENLY SPACED LOAD BARS THE DIMENSIONS ARE BELOW. 

00-ROOF5.0-1555 (5’-0” ROOF PLATFORM) X= 5”
00-ROOF5.6-1553 (5’-1/2” ROOF PLATFORM) X=6”
00-ROOF6.0-1556 (6’-0” ROOF PLATFORM) X=7”
00-ROOF6.4-1558 (6’-4” ROOF PLATFORM) X= 8”
00-ROOF6.6-1560 (6’-1/2” ROOF PLATFORM) X=9”

X

X

X

X

X



Remove: load bars and accessories
• remove all accessories from the ACS FORGED RACK! This is important as the  next step will have you remove the top 
load bars and the rack could get damaged without those supports!

• remove both load bars by lossening the securing fasteners from the underside of the steel brackets. the hardware will be reused so 
only loosen it and leave it installed.

V1 | Page 12

keep this hardware installed

remove knob and replace with 

included M8 locknut



V1 | Page 13

INSTALL: ACS ROOF TO ACS FORGED RACK
• SLIDE THE ACS ROOF ONTO THE CROSS BAR HARDWARE FROM ONE SIDE OF THE TRUCK. YOU WILL BE USING THE LAST T-SLOTS ON EITHER END OF  	
  THE ROOF PLATFROM.

• CENTER THE RACK ON THE TRUCK AND TIGHTEN THE FASTENERS loosened IN THE previous STEPS. 

•if installing rack on acs classic you will need to line up the 8 t-bolts with the brackets and tighten m8 lock nuts removed in 	
 steps on page 6.  

• NOTE: THIS IS A 2 PERSON JOB!



assemble: endcaps
• ASSEMBLE THE PLASTIC RETAINER INTO THE CORNER CAP AS SHOWN BELOW. (FIG A)

• using two m6 x 12 fasteners secure the edcaps to the corners of the rack (FIG 2) TIGHTEN TO 24 IN-LB USING A T30 TORX WRENCH.

V1 | Page 14

(FIG 1)

(FIG 2)



use guidelines
When using Leitner Designs carriers and accessories, the user must understand the precautions. 
The points listed below will assist you in using the rack system and will encourage safety.

•For quality fits and safety, use only the recommended rack or accessories. Do not assume a rack 
will fit, always check the current Fit Guide when obtaining a new vehicle. 
	
•The maximum load is not to be exceeded. (400# off road – 800# on road). However, this limit is 
always subordinate to the maximum load recommended by the manufacturer of the 
vehicle itself. It is always the lower maximum recommended load that applies. Max truck load 
= load carrier weight + any fitted carrier accessories + the weight of the load itself.

•high speed off road driving even with a light load can cause damage to the rack, accessories 
and  vehicle body. Damage caused by high speed driving and abuse is not covered under 
warranty.

•Make sure all knobs, bolts, screws, straps, and locks are firmly attached, tightened and locked 
before every trip. Knobs, bolts, screws, straps and locks must be periodically inspected for signs 
of wear, corrosion, and fatigue. Check your load at stops during the trip to ensure continued 
fastening security.

•Check local and state laws governing projection of objects beyond the perimeter of a vehicle. 
Be aware of the width and height of your cargo since low clearance branches, bridges, and 
parking garages can affect the load. All cargo will affect the vehicle’s driving behavior. Never 
drive with any lock, knob or rack in an open or unlocked position. All long loads such as, but 
not limited to, sailboards, surfboards, kayaks, canoes, and lumber must be tied down front and 
rear to the bumpers or tow hooks of the vehicle.

•All locks must be turned and moved periodically to ensure smooth operation. Use graphite or 
dry lubricant to help this. Leitner designs locks are designed to deter vandalism and theft but 
should not be considered theft proof. Remove valuable gear if your vehicle is unattended for an 
extended period. Place at least one key in the glove compartment.

•For safety to your vehicle and rack system, obey all posted speed limits and traffic cautions. 
Adapt your speed to the conditions of the road and the load being carried.

•Do not use Leitner Designs load carriers and accessories for purposes other than those 
for which they were designed. Do not exceed their carrying capacity. Failure to follow these 
guidelines or the product’s instructions will void the warranty.

V1 | Page 15



Warranty
Leitner Designs warrants product to be free from defects in material and workmanship, for 
terms specified below, provided there has been normal use and proper maintenance.  All remedies 
under this warranty are limited to the repair or replacement of any item found by the factory to 
be defective within the time period specified. If you have a warranty claim, first you must call our 
factory at the number below for instructions. You must retain proof of purchase and submit 
a copy with any items returned for warranty work.  Upon completion of warranty work, if any, 
we will return the repaired or replaced item or items to you freight prepaid.  Damage to our 
products caused by accidents, Fire, vandalism, negligence, mis-installation, misuse, Acts of God, 
or by defective parts not manufactured by us, is not covered under this warranty.

THE WARRANTY TIME PERIOD IS AS FOLLOWS: (2) TWO YEARS FROM DATE OF PURCHASE.

high speed off road driving even with a light load can cause damage to the rack, accessories 
and  vehicle body. Damage caused by high speed off road driving and abuse is not covered 
under warranty.

ANY IMPLIED WARRANTIES OF MERCHANTABILITY AND/OR FITNESS FOR A PARTICULAR PURPOSE CREATED 
HEREBY ARE LIMITED IN DURATION TO THE SAME DURATION AND SCOPE AS THE EXPRESS WRITTEN WARRANTY.  
OUR COMPANY SHALL NOT BE LIABLE FOR ANY INCIDENTAL OR CONSEQUENTIAL DAMAGE.

Some states do not allow limitations on how long an implied warranty lasts, or the exclusion or 
limitation of incidental or consequential damages, so the above limitations or exclusions may not 
apply to you.  This warranty gives you specific legal rights, and you may also have other rights 
that vary from state to state.

FOR WARRANTY ISSUES WITH THIS PRODUCT PLEASE CALL LEITNER DESIGNS CUSTOMER SERVICE 949-395-
3049 or email us at Sales@leitnerdesigns.com

V1 | Page 16


